40 CFR Part 60, Subpart J - Requirements Reference Tables
Subpart J Standards

860.102(a)(1) PM requirements FCCU catalyst regenerators

860.102(a)(2) Opacity requirements for FCCU catalyst regenerators

860.103(a) CO requirements for FCCU catalyst regenerators

860.104(a)(1)|1 SO, requirements for fuel gas combustion devices

860.104(a)(2)()|1 SO, requirements for Claus sulfur recovery plants with an oxidation control

system

e 860.104(a)(2)(1)|2 SO, requirements for Claus sulfur recovery plants with a reduction control
system followed by incineration

e 860.104(a)(2)(ii) SO, requirements for Claus sulfur recovery plants with a reduction control

system not followed by incineration

860.104(b)(1) SO, requirements for FCCU catalyst regenerators with an add-on control device

860.104(b)(2) SO, requirements for FCCU catalyst regenerators without an add-on control

device

e 860.104(b)(3) SO, requirements in terms of fresh feed sulfur content for FCCU catalyst

regenerators

These relationship entry screens and flowcharts are for use by sources subject to the Texas Federal
Operating Permits Program only and are subject to revision.
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